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ABSTRACT
In the general relativity theory, study the replacement of the metric tensor in the
Einstein gravity field equation.
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1.Introduction
In the general relativity, we study the replacement of the metric tensor.

The gravity field equation is
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In this time, we study the replacement of the cosmological term Ag/w.

We look the co-invariant differentiation of scalars g, , - h,.

In this time, g;tdet(gﬂu), g, arescalars.

2.The replacement of the metric tensor
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The co-invariant differentiation of the metric tensor g/w is
Gz =0 3)

Co-invariant differentiation of scalars g. , - h,.is
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Therefore, Eq(4) is

U]




G = (gzy : h:u):a =00 " h:u +39, - h;u:a

0 ,09 Oh , 0g oh ., 0g oh
= ( ——) Ty — T —
ox“ ox" ox' ox" ox’ ox* ox*
_ 0 (8g 8/7) 1gﬂg(6gm +5ng 00, \ 0g 0h
ox* ox* ox* 2 ox*  ox*  ox° ox* oxv
1 Ag(agae +agu6_agau 0g 0h
2 ox'  ox*  ox° ox* ox*
:8 6g_6h _l@g@h 8(69 oh
oX“ ox* ox° 2 0x, OX, ox" OXx° ox“
0 (8g ah)_ 0 (8g ah)] og oh
oX® ox° ox*  ox° ox* ox* ox* ox’
1,09 oh,; 0 (8g oh

2 OXx, 0X, 0Ox° ox“ ox°
o ,09 8/7)_ 0 (8g 8/7)] og oh
oxX® ox” ox°  ox° ox* ox” ox* ox*

_ 9°g oh . 09 o°h
ox“ox* ox° ox" ox“ox’

_l(ag oh .\, dg 8/7)[ 0’g oh . og 0°h
2 0x, Ox, oOx" ox" ox"ox® ox* Ox° Ox" ox”

. 0’g  oh N og o°h  d°g oh 8g &°h
ox“ox® ox" Ox° ox“ox" ox‘ox“ ox* Ox” ox‘ox"
_l(ﬁg oh ., dg 8/7) 0’g oh . og 0°h

2 0x, OX, 0Ox* Ox" OX"0X" ox° oOx* OX"0X°

. o°g  oh ., 99 o°h  o°g oh og o°h

OX“0X" OX® Ox" ox“0ox® Ox“ox” ox" oOx” ox‘ox*

In this time,
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Hence, if we calculates Eq(8),
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3.The replacement of the matric tensor in the Minkowski spacetime
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If we act the Lorentz transformation in Eq(11),
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In this time,
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Eq(12) is

d,5‘2 :72(6_98_/7'+V_8_g@)
cot' cot'  c? ox' ox

2
+y° 8_g|6_/7| + V—a—qa—@)ﬁ(o’x'wdf )? + 29 oh e og oh —adz"?
ox' ox'  c¢? cot' cot oy' oy 0z o7
2 2
= %<1+ %)ﬁ(edn Vo' + y2(1- %)yz(dx'wdf ) + a2 +az”?

(cdz‘+ ax')?

= _y2(c2at?+2at vax'+ O'X'2 ) + 2 (ax'"*+2ax' vat+2at? ) + ' +dz"*
c?

—CPat?+axX*+ay* +0z'* = 7'y CTA 1 X P Ay QY P 3 AZF (14)

4.Conclusion
Therefore, the gravity field equation is
1
E)ﬂu —EQ#UE’Jr Ag/w

-A, 1g R+Ag,h, = 82G

D) ! o ot

g, h,=9,.9" -h"=g" (15)

For example, the metric tensor of Schwarzschild solution is
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*Important caution
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The important point is
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